
 

A. Licensee particulars 
 

 

 
B. Carbon dioxide equivalent declaration (section 4(2) of Carbon Tax Act, 2019,  methodology):  

 
B.1         Emissions factor:  {(C x 1) + (M x 23) + (N x 296) + (H x 11 900) + (T x 5 700) + (S x 22 200) = X  

 
B.1.1      Use the prescribed Schedule for Carbon Tax Industrial Process Factors to calculate the Emission factor in Carbon Dioxide equivalent per tonne (X): 

 
 Source C M N H T S X 
IPCC Codes Activity TONNE CO2/tonne 

product 
TONNE CH4/tonne 
product 

TONNE N2O/tonne 
product 

TONNE C2F6/tonne 
product 

TONNE CF4/tonne 
product 

TONNE SF6/tonne 
product 

Emission factor in 
Carbon Dioxide 
equivalent per tonne 

         
         
         
         
         
         
         

Totals        
 

B.2    Emissions equivalent: (G x H) = P 
 

B.2.1     Use the Total of G (mass in tonne) multiplied by total of X (Emission factor) to calculate the Emissions Equivalent: 
 

G X P 
Total mass in tonne (G) Emission Factor (H) Emissions Equivalent (P) 
   

 
C. The Emissions Equivalent figure as reflected in this DA180.01C represented by P as above must be carried forward to the DA 180 section B3 (front page) to be inserted in the Total Industrial Process Emissions field 

represented by P.  
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